

Pay Estimate Created Date: March 16, 2023

Progress 2	Estimate Number	Prin	ne C	21021-D03 apital Paving & Col LC	pital Paving & Construction,		March 2, 202 March 15, 2023	3 Original Contract Amoun Net Change Order Amount Current Contract Amount	(\$19,200.00)			
Approval Date									By User			
March 16, 2023				Generated and A	Approved (a	and should be consid	lered Draft) at t	he Project Office Level by	coram			
March 17, 2023			R	eviewed and Appro	ved (and sl	hould be considered	Draft) at the R	esident Engineer Level by	browns1			
March 20, 2023				F	Reviewed a	ind Approved at the (Central Office	Controllers Office Level by	ramses1			
Original Comple	tion Date	,	Current Cor	npletion Date	Actua	al Completion Date	%	% of Current Contract Amount Complete				
December 1,	2023		Decemb	er 1, 2023				1.43%				
	Con	tract In	formational Da	ites		Milestor	nes					
Date Description	o Orig	jinal Co	mpletion Date	Current Comple	tion Date	No Milestones Exis	t for Contract					
Acceptance Date												
Awarded Date	Nove	ember 2	2, 2022	November 2, 202	2							
Letting Date	Octo	ber 21,	2022	October 21, 2022								
Notice to Proceed D	ate Janu	ary 2, 2	2023	January 2, 2023								
Open to Traffic Date												
Work Began Date												

Contract Total Pay For Estimate No. 2				
	This Estimate	Previous	To Date	
221021-D03				
Total Posted Items Pay	\$71,454.00	\$8,000.00	\$79,454.00	
Gross Item Adjustments	(\$13,000.00)	\$0.00	(\$13,000.00)	
Incentive	\$0.00	\$0.00	\$0.00	
Disincentive	\$0.00	\$0.00	\$0.00	
Liquidated Damage	\$0.00	\$0.00	\$0.00	
Other Contract Adjustmen	ts \$0.00	\$0.00	\$0.00	
		<mark>\$8,000.00</mark>	\$66,454.00	
Contract Total Payable This Estimate:	\$58,454.00			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J5S3354	0010	2022010	REMOVAL OF IMPROVEMENTS	LS	\$30,000.000	0.75	\$22,500.00
	0020	2063000	CLASS 3 EXCAVATION	CUYD	\$20.000	165	\$3,300.00
	0040	2142000	FURNISHING ROCK FILL	CUYD	\$1.000	352	\$352.00
	0050	2143000	PLACING ROCK FILL	CUYD	\$50.000	352	\$17,600.00
	0060	3030600	FURNISHING ROCK BASE MATERIAL	SQYD	\$1.000	104	\$104.00
	0070	3030610A	PLACING ROCK BASE	SQYD	\$10.000	104	\$1,040.00
	0100	4019905	MISC.Full Depth Optional Pavement Replacement	SQYD	\$125.000	104	\$13,000.00
	0150	6097000	ROCK LINING	CUYD	\$50.000	11	\$550.00
	0170	6161005	CONSTRUCTION SIGNS	SQFT	\$6.000	453	\$2,718.00
	0200	6161030	TYPE III MOVEABLE BARRICADE	EA	\$145.000	10	\$1,450.00
	0370	7320060A	60 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	EA	\$4,000.000	2	\$8,000.00
	0440	8061019	SILT FENCE	LF	\$3.500	240	\$840.00
Project J5S	3354 - Total						\$71,454.00
Overall - To	tal						\$71,454.00



Pay Estimate Created Date: March 16, 2023

	Progre 2	ess Estimate Number	Contract ID Prime Contractor	221021-D Capital Pa LLC	03 aving & Const	Pay Period End 2023	Driginal Contra let Change Oro Amount Current Contra	der (S	\$19,200.00)
Project Number	Line No.	Item De	escription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5S3354	0040	FURNISHI	NG ROCK FILL	Material			-352	\$1.00	(\$352.00)
	0040	FURNISH	NG ROCK FILL	Material		This adjustment offsets the original system generated Material Payment Estimate Ite Adjustment (0001) due to user cora overridding Payment Estimate Exception 1 o the current Payment Estimate	ท ท ท	\$1.00	\$352.00
	0100		MISC.	Material			-104	\$125.00	(\$13,000.00)
	0150		ROCK LINING	Material			-11	\$50.00	(\$550.00)
	0150 ROCK LININ		ROCK LINING	Material		This adjustment offsets the original system generated Material Payment Estimate Ite Adjustment (0003) due to user cora overridding Payment Estimate Exception 4 c the current Payment Estimate	m m n	\$50.00	\$550.00
	0370	SUBSTIT	OR ALLOWED UTE GROUP B END SECTION	Material			-2	\$4,000.00	(\$8,000.00)
	0370	SUBSTIT	OR ALLOWED UTE GROUP B END SECTION	Material		This adjustment offsets the original system generated Material Payment Estimate Ite Adjustment (0004) due to user cora overridding Payment Estimate Exception 5 c the current Payment Estimate	m m n	\$4,000.00	\$8,000.00
	0440		SILT FENCE	Material			-240	\$3.50	(\$840.00)
	0440		SILT FENCE	Material		This adjustment offsets the original system generated Material Payment Estimate Ite Adjustment (0005) due to user cora overridding Payment Estimate Exception 6 c the current Payment Estimate	m m n	\$3.50	\$840.00
Total									(\$13,000.00)



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information												
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work								
J5S3354	FAS- S402(1)	Drainage, resurface, and add shoulders	U, E	OSAGE	on Route U from Route 50 to Route E and on Route E from Route 89 to Route 63								
J5S3473	FAF 42-2(279)	Resurface	42, EE	MARIES	on Route 42 from Rte. 63 to Rte. 28 and on Rte. EE from Rte. 28 to end of state maintenance								

Totals by Job Numbers

54	This Estimate	Previous	To Date
Posted Item Pay	\$71.454.00	\$8,000,00	\$79.454.00
Gross Item Adjustments	(\$13,000.00)	\$0.00	(\$13,000.00)
Gross Item Pay	\$58,454.00	\$8,000.00	\$66,454.00
	AA AA	*• • • •	AA AA
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damages	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00
73	This Estimate	Previous	To Date
73 Posted Item Pay	This Estimate \$0.00	Previous \$0.00	To Date \$0.00
Posted Item Pay	\$0.00	\$0.00	\$0.00
Posted Item Pay Gross Item Adjustments Gross Item Pay	\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00
Posted Item Pay Gross Item Adjustments Gross Item Pay Incentive	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Posted Item Pay Gross Item Adjustments Gross Item Pay Incentive Disincentive	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Posted Item Pay Gross Item Adjustments Gross Item Pay Incentive	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J5S3354, Item 2142000, Project Item Line Number 0040, Material Set 214200096, Material 0214STRF - Stone for Rock Fill, Acceptance Action Generic 0214STRF is insufficient.	QA inspection report not entered at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3354, Item 4019905, Project Item Line Number 0100, Material Set 401990596, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	QC inspection report not entered at this time.	coram	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J5S3354, Item 4019905, Project Item Line Number 0100, Material Set 401990596, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action 0501CCPAQCQA Pavement is insufficient.	QC inspection report not entered at this time.	coram	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J5S3354, Item 6097000, Project Item Line Number 0150, Material Set 609700096, Material 0611EPM - Embankment Protection Material, Acceptance Action Generic 0611EPM is insufficient.	QA inspection report not entered at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3354, Item 7320060A, Project Item Line Number 0370, Material Set 7320060A96, Material 1020ESAC - Flared End Section Aluminum coated steel, Acceptance Action Generic 1020ESAC is insufficient.	QA inspection report not entered at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3354, Item 8061019, Project Item Line Number 0440, Material Set 806101996, Material 1011GXT2 - Geotextile Fabric for TempSiltFence (T2), Acceptance Action Generic 1011GXT2 is insufficient.	QA inspection report not entered at this time.	coram	Overridden

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted amo Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
21021-D03	J5S3354	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.75	\$30,000.00	\$22,500.0
		0001	0020	2063000	CLASS 3 EXCAVATION	165.00	0.00	165.00	CUYD	165.00	\$20.00	\$3,300.0
		0001	0030	2079909	MISC.Modified Linear Grading, Class 2	868.60	0.00	868.60	STA	0.00	\$651.24	\$0.0
		0001	0040	2142000	FURNISHING ROCK FILL	642.00	0.00	642.00	CUYD	352.00	\$1.00	\$352.0
		0001	0050	2143000	PLACING ROCK FILL	642.00	0.00	642.00	CUYD	352.00	\$50.00	\$17,600.0
		0001	0060	3030600	FURNISHING ROCK BASE MATERIAL	104.00	0.00	104.00	SQYD	104.00	\$1.00	\$104.0
		0001	0070	3030610A	PLACING ROCK BASE	104.00	0.00	104.00	SQYD	104.00	\$10.00	\$1,040.0
		0001	0080	3105002	GRAVEL (A) OR CRUSHED STONE (B)	295.00	0.00	295.00	TONS	0.00	\$30.00	\$0.0
		0001	0090	4013010	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE WIDENING)	7,315.90	0.00	7,315.90	TONS	0.00	\$90.75	\$0.0
		0001	0100	4019905	MISC.Full Depth Optional Pavement Replacement	104.00	0.00	104.00	SQYD	104.00	\$125.00	\$13,000.0
		0001	0110	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	13,483.60	0.00	13,483.60	TONS	0.00	\$103.22	\$0.0
		0001	0120	4071005	TACK COAT	16,514.00	0.00	16,514.00	GAL	0.00	\$2.83	\$0.0
		0001	0130	6096020	FURNISHING TYPE 2 ROCK DITCH LINER	147.00	0.00	147.00	CUYD	0.00	\$1.00	\$0.0
		0001	0140	6096042	PLACING TYPE 2 ROCK DITCH LINER	147.00	0.00	147.00	CUYD	0.00	\$50.00	\$0.0
		0001	0150	6097000	ROCK LINING	115.00	0.00	115.00	CUYD	11.00	\$50.00	\$550.0
		0001	0160	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$552.23	\$0.0
		0001	0170	6161005	CONSTRUCTION SIGNS	1,296.00	0.00	1,296.00	SQFT	453.00	\$6.00	\$2,718.0
		0001	0180	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	0.00	\$35.00	\$0.0
		0001	0190	6161025	CHANNELIZER (TRIM LINE)	160.00	0.00	160.00	EA	0.00	\$24.00	\$0.0
		0001	0200	6161030	TYPE III MOVEABLE BARRICADE	10.00	0.00	10.00	EA	10.00	\$145.00	\$1,450.0
		0001	0210	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$4,000.00	\$8,000.0
		0001	0220	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	4.00	-4.00	0.00	EA	0.00	\$2,400.00	\$0.0
		0001	0230	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	4,725.00	0.00	4,725.00	LF	0.00	\$16.00	\$0.0
		0001	0240	6175010A	RELOCATING TEMPORARY TRAFFIC BARRIER	2,100.00	0.00	2,100.00	LF	0.00	\$9.00	\$0.0
		0001	0250	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$235,092.30	\$0.0
		0001	0260	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	8.00	0.00	8.00	EA	0.00	\$600.00	\$0.0
		0001	0270	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	154,756.00	0.00	154,756.00	LF	0.00	\$0.10	\$0.0
		0001	0280	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	142,707.00	0.00	142,707.00	LF	0.00	\$0.12	\$0.0
		0001	0290	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	390.00	0.00	390.00	SQYD	0.00	\$16.80	\$0.0
		0001	0300	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	377.00	0.00	377.00	SQYD	0.00	\$25.41	\$0.0
		0001	0310	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	820.80	0.00	820.80	STA	0.00	\$10.25	\$0.0
		0001	0320	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	437.80	0.00	437.80	STA	0.00	\$10.25	\$0.0
		0001	0330	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$0.01	\$0.0
		0001	0340	7039902	MISC.CULVERT HEADWALL MODIFICATION	7.00	0.00	7.00	EA	0.00	\$3,100.00	\$0.0
		0001	0350	7039902	MISC.CULVERT WINGWALL MODIFICATION	22.00	0.00	22.00	EA	0.00	\$3,150.00	\$0.0
		0001	0360	7250360A	60 IN. PIPE GROUP B	66.00	0.00	66.00	LF	0.00	\$200.00	\$0.0
		0001	0370	7320060A	60 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	2.00	0.00	2.00	EA	2.00	\$4,000.00	\$8,000.0
		0001	0380	8051000A	SEEDING - COOL SEASON GRASSES	33.30	0.00	33.30	ACRE	0.00	\$2,900.00	\$0.0
		0001	0390	8061004	SEDIMENT TRAP ROCK	83.00	0.00	83.00	CUYD	0.00	\$65.00	\$0.0
		0001	0400	8061005	ROCK DITCH CHECK	2,488.00	0.00	2,488.00	LF	0.00	\$20.00	\$0.0
		0001	0410	8061006	ALTERNATE DITCH CHECK	663.00	0.00	663.00	LF	0.00	\$12.00	\$0.0
		0001	0420	8061016	SEDIMENT REMOVAL	282.00	0.00	282.00	CUYD	0.00	\$44.82	\$0.0
		0001	0430	8061017	TEMPORARY SEEDING	16.80	0.00	16.80	ACRE	0.00	\$1,900.00	\$0.0
		0001	0440	8061019	SILT FENCE	4,146.00	0.00	4,146.00	LF	240.00	\$3.50	\$840.0

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Contract .CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repor generated date)
021-D03	J5S3354	0030	0450	9029400	TEMPORARY TRAFFIC SIGNALS	2.00	0.00	2.00	LS	0.00	\$6,500.00	\$0.0
		0030	0455	9029902	MISC.RELOCATING TEMPORARY TRAFFIC SIGNALS	7.00	0.00	7.00	EA	0.00	\$0.01	\$0.0
		0040	0460	9031250A	U-CHANNEL POST, 3 LB	400.00	0.00	400.00	LF	0.00	\$26.00	\$0.0
		0040	0470	9035069A	SHF-FLAT SHEET FLUORESCENT	75.00	0.00	75.00	SQFT	0.00	\$32.00	\$0.0
		0070	0480	2063300	CLASS 4 EXCAVATION	20.00	0.00	20.00	CUYD	0.00	\$40.00	\$0.0
		0070	0490	2065500	TEMPORARY SHORING	1.00	0.00	1.00	LS	0.00	\$2,000.00	\$0.0
				2163501	PARTIAL REMOVAL OF CULVERT-BRIDGE CONCRETE	1.00	0.00	1.00	LS	0.00	\$10,000.00	\$0.
		0070	0510	7034040	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	54.10	0.00	54.10	CUYD	0.00	\$1,500.00	\$0.0
		0070	0520	7040102	SUBSTRUCTURE REPAIR (UNFORMED)	10.00	0.00	10.00	SQFT	0.00	\$150.00	\$0.
		0070	0530	7061020	REINFORCING STEEL (CULVERTS-BRIDGE)	7,940.00	0.00	7,940.00	LB	0.00	\$2.50	\$0.
	Project J	iS3354 - To	otal Value	Posted to D	ate as of Report Generated Date							\$79,454.
	J5S3473	0001	0540	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$3,000.00	\$0.0
		0001	0550	2153000	SHAPING SLOPES, CLASS III	9.00	0.00	9.00	100F	0.00	\$1,600.00	\$0.
		0001	0560	3105002	GRAVEL (A) OR CRUSHED STONE (B)	700.00	0.00	700.00	TONS	0.00	\$78.51	\$0.
		0001	0570	4071005	TACK COAT	20,515.00	0.00	20,515.00	GAL	0.00	\$2.82	\$0.
	0001 0580 6123000A T		6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$552.23	\$0.	
		0001	0590	6161005	CONSTRUCTION SIGNS	3,006.00	0.00	3,006.00	SQFT	0.00	\$6.00	\$0.
		0001	0600	6161025	CHANNELIZER (TRIM LINE)	150.00	0.00	150.00	EA	0.00	\$22.00	\$0
		0001	0610	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$1,500.00	\$0
		0001	0620	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	0.00	4.00	EA	0.00	\$3,000.00	\$0.
		0001	0630	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	8.00	-8.00	0.00	EA	0.00	\$1,200.00	\$0
		0001	0640	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$35,261.91	\$0
		0001	0650	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	5.00	0.00	5.00	EA	0.00	\$200.00	\$0
		0001	0660	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	215,762.00	0.00	215,762.00	LF	0.00	\$0.09	\$0
		0001	0670	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	188,827.00	0.00	188,827.00	LF	0.00	\$0.13	\$0
		0001	0680	6206108A	8 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	200.00	0.00	200.00	LF	0.00	\$2.00	\$0
		0001	0690	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	2,480.00	0.00	2,480.00	SQYD	0.00	\$3.26	\$0
		0001	0700	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	3,661.00	0.00	3,661.00	SQYD	0.00	\$6.84	\$0
		0010	0710	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	8.00	0.00	8.00	EA	0.00	\$4,200.00	\$0.
		0010	0720	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	8.00	0.00	8.00	EA	0.00	\$3,400.00	\$0
		0050	0730	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	12,553.60	0.00	12,553.60	TONS	0.00	\$98.89	\$0
		0051	0740	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	2,672.80	0.00	2,672.80	TONS	0.00	\$103.53	\$0
		0070	0750	7039902	MISC.Barrier End Modification	4.00	0.00	4.00	EA	0.00	\$5,700.00	\$0
		0071	0760	7039902	MISC.Barrier End Modification	4.00	0.00	4.00	EA	0.00	\$5,700.00	\$0
				1	late as of Report Generated Date	1						\$0

Total Paid / All Items / All Estimates (Including this Estimate)



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J5S3354

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2022010	REMOVAL OF IMPROVEMENTS	3/15/23	3/16/23	0.75	LS		1.778				60"CMP, Full Depth, and Full Depth Saw Cut.
0020	2063000	CLASS 3 EXCAVATION	3/15/23	3/16/23	165.00	CUYD	Culvert Replacement	1.789				
0040	2142000	FURNISHING ROCK FILL	3/15/23	3/16/23	352.00	CUYD	Pipe Replacement	1.789				
0050	2143000	PLACING ROCK FILL	3/15/23	3/16/23	352.00	CUYD	Pipe Replacement	1.789				
0060	3030600	FURNISHING ROCK BASE MATERIAL	3/15/23	3/16/23	104.00	SQYD	Pipe Replacement	1.789				
0070	3030610A	PLACING ROCK BASE	3/15/23	3/16/23	104.00	SQYD	Pipe Replacement	1.789				
0100	4019905	MISC.	3/15/23	3/16/23	104.00	SQYD	Pipe Replacement	1.789				
0150	6097000	ROCK LINING	3/15/23	3/16/23	11.00	CUYD	Pipe Replacement	1.789				
0170	6161005	CONSTRUCTION SIGNS	3/15/23	3/16/23	453.00	SQFT	See Documentation Record 1	0				
0200	6161030	TYPE III MOVEABLE BARRICADE	3/15/23	3/16/23	10.00	EA	See Documentation Record 1	0				
0360	7250360A	60 IN. PIPE CULVERT GROUP B	3/15/23	3/16/23	0.00	LF	Waiting on QC pipe inspection report.	1.789				
0370	7320060A	60 IN. GROUP B FLARED END SEC	3/15/23	3/16/23	2.00	EA	Pipe Replacement Route U	1.789				
0440	8061019	SILT FENCE	3/15/23	3/16/23	240.00	LF	Rt LM 1.791 to 1.804 = 140 Lt LM 1.779 to 1.804 = 140	1.791				

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 4/1/2020



Line Item Adjustments by Estimate

Mar 21, 2023

Contract ID: 221021-D03

Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
			турс	Туре	Number	Date	Dy		
J5S3354	0040	FURNISHING ROCK FILL	Material		2	Mar 16, 2023	SYSTEM	\$352.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user coram overridding Payment Estimate Exception 1 on the current Payment Estimate.
					2	Mar 16, 2023	SYSTEM	(\$352.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0040 -	Total						\$0.00	
	0100	MISC.	Material		2	Mar 16, 2023	SYSTEM	(\$13,000.00)	
				- Total				(\$13,000.00)	
			Material - To	otal				(\$13,000.00)	
	0100 -	Total						(\$13,000.00)	
	0150	ROCK LINING	Material		2	Mar 16, 2023	SYSTEM	\$550.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user coram overridding Payment Estimate Exception 4 on the current Payment Estimate.
					2	Mar 16, 2023	SYSTEM	(\$550.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0150 -	Total			_			\$0.00	
	0370	60 IN. GROUP B FLARED	Material		2	Mar 16, 2023	SYSTEM	\$8,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user coram overridding Payment Estimate Exception 5 on the current Payment Estimate.
		END SEC			2	Mar 16, 2023	SYSTEM	(\$8,000.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0370 -	Total						\$0.00	
	0440	SILT FENCE	Material		2	Mar 16, 2023	SYSTEM	\$840.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user coram overridding Payment Estimate Exception 6 on the current Payment Estimate.
					2	Mar 16, 2023	SYSTEM	(\$840.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0440 -	Total						\$0.00	
J5S3354 -	Total							(\$13,000.00)	
								(\$13,000.00)	